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Bytes | Visual Studio 2013 |Windows SDK &% Delphi XE7 C#
1{bool BOOLEAN WinNT.h ByteBool [1] -
4|int BOOL WinDef.h Longbool
1|char CHAR WinNT.h Shortint sbyte
1| unsigned char BYTE WinDef.h Byte byte
2|short SHORT WInNT.h Smallint short
2|unsigned short WORD WinDef.h Word ushort
4]long LONG WiInNT.h Integer int
4 |unsigned long ULONG WinDef.h LongWord uint
8|long long LONGLONG WiInNT.h Int64 long
8 |unsigned long long |ULONGLONG  WinNT.h Uint64 ulong
4 |float FLOAT WinDef.h Single float
8| double ? Double double
4(int -
4| unsigned int -

40r8 Nativelnt [2]

40r8 NativeUint [3]

40r8 Pointer [4]

1 Boolean [5]

Delpih XE7 docwiki : 64 Ewk Windows T—42%1 & 32 Ewk Windows T—42 ! @ LhER
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Bytes [FTDI D2XX comment
1|UCHAR Unsigned char
4|PUCHAR Pointer to unsigned char
4(PCHAR Pointer to char
4| DWORD Unsigned long
4LPDWORD Pointer to unsigned long
4|FT_HANDLE DWORD

FTDI D2XX

UCHAR

DWORD


http://msdn.microsoft.com/en-us/library/s3f49ktz.aspx
http://msdn.microsoft.com/en-us/library/windows/desktop/aa383751%28v=vs.85%29.aspx
http://docwiki.embarcadero.com/RADStudio/XE7/ja/Delphi_%E3%81%AE%E3%83%87%E3%83%BC%E3%82%BF%E5%9E%8B
http://docwiki.embarcadero.com/RADStudio/XE7/ja/64_%E3%83%93%E3%83%83%E3%83%88_Windows_%E3%83%87%E3%83%BC%E3%82%BF%E5%9E%8B%E3%81%A8_32_%E3%83%93%E3%83%83%E3%83%88_Windows_%E3%83%87%E3%83%BC%E3%82%BF%E5%9E%8B%E3%81%AE%E6%AF%94%E8%BC%83
https://msdn.microsoft.com/ja-jp/library/exx3b86w.aspx
https://msdn.microsoft.com/ja-jp/library/bfft1t3c.aspx
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